
3.1  The Rectangular coordinate system
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3.2  The Slope of the Line
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3.3  Linear Equations in two variables
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3.4  Linear Inequalities in two Variables
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3.6  Function Notation and Linear Functions
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5. Find the equation of the line that satisfies the given conditions. Write the equation in standard form and write
the equation in slope-intercept form, if possible.

W G.4)m=-2 b) @ 3and (1,5 ) (%,4) and (%56]
d) parallel to 3x—y =4, through (0, -3) e) perpendicular to 2y = —5x, through (2, 4)
) (4.-5.m=0 g)  (6.2). slope undefined.

6. A lawn aerator rents for $25, plus $3 per hour. Let x represent the number of hours the aerator was rented and
y the total rental cost. Write an equation in the form y = mx+b to represent this situation. How many hours
was the aerator rented if the total cost was $38.50?
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Determine whether the ordered pair satisfies y > x+2.
a) (0.2 by (1,4) o (. 4 (4.2 e (-1.-2)

Graph each linear inequality in two variables.

a) y<x b) yzx+2 ¢ y<—x-3

d)  y>-5x+3 e) x+2y>-2 ) -2x-5y<10
1 .

2) y>5x h)y y=<2 i x=z-2

D 2x>-3y k) x>-3y D —2x<8
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3. Graph each compound inequality:

a) y<x+land y=5x-3 b) y<x+lor y<5x-3
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Distinguish between independent and dependent variables.

a) The cost of the monthly phone bill depends on the number of minutes talked per month.
b) The weight of a fish depends on the length of a fish.

Find the domain and range of the relation. Determine whether the relation is a function.
a) {(1.4).(1.6)} b) {3.-4).8.9} ©) {(=2.-6).(0.-6)}

d) {(4.5),(-1,2),(2,-6). (2,-9)} e y>x-3 f)  y=+x+l
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3. Determine whether each relation is a function.

b)
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. Given the following functions, find the indicated values.

a) f(x)=4-2x:findf(-1). f(4). f[%) b) f(x):§x+2;fmdf(—5), f(@2. f[%]

©) f@)=-x*+2x=3:find f(-1), f(2) &) fo=x"=4:find f(-1). f(10). f(=3)

. Graph the following functions.

a)  f(x)=x+3 b) f(x)=5
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Fill in the missing information.

a) The standard form of a linear equation in two variables is .

b) The ordered pair (x, y) that makes an equation true is called a to that equation.

¢) (3.4)isasolutionto x+y="7 because

d) Three more solutions to x+y =7 are

e) When the solutions to x+ y =7 are graphed on a reclanguldr coordinate system the result is a
line.

Find the missing coordinate.

a) (-1,__)isasolutionof y=2x+4 b) (__,3)isasolutionof x—y=9
Graph each equation.

2
a) y=x+l1 b) y=-2x+3 c) y:§x—3
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Simplify the equation if possible. Find the x-intercept, the y-intercept, and one or two additional ordered pairs
that are solutions to the equation. Then graph the equation.

a) 2x+4y=8 b) —3x+5y=6 ¢) 2x+6y+3=3
Simplify the equation if possible. Then graph the horizontal or vertical line.

a) x=3 b) 2x-10=0 c¢) 6-3y=0
Find the coordinate of the midpoint of the line segment with the given endpoints.

@) P(3.2) and Q(-2.1) b) P(-2.4) and Q(3,-8) ©) P(-1.0) and Q(0.5)
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Fill in the missing information and draw an example of each line.

a) If the height of a line increases as the x—value increases, the slope is
b) If the height of a line decreases as the x—value decreases, the slope is

Find the slope, if possible, of the line passing through each pair of points.

a) (3.4)and (5.8) b) (=2.4)and (-4.7)

ofm(ad o (il

Find the slope of each line.

a) 3x-y=8 b) 2x+4y=14

¢) (-1.5.4.5)and (4.5,0)

¢ y=4




image4.png
Graph the line given its slope and a point on the line.
3 1
a) (-5.-4): m=> b) (2.-3). m=—

Given the equations of two lines, determine whether they are parallel, perpendicular, or neither.
a) 2x-y=6 & x+2y=-5 b) x+2y=5 & x+2y=9 ¢ 4x-3y=11& 6x-y=13

A river has a slope of 0.12. How many feet does it rise vertically over a horizontal distance of 400 feet?
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Write the slope-intercept form for the equation of a line given a slope and a y—intercept.

a)m=2, b= -5 b) slope 7%,y—imercept 0,2)
Graph the line, using its slope and y-intercept.

a) slope=2, (0,-2) b) slope = 7%, (0,3)

‘Write each equation in slope—intercept form.

a) 3x—4y=12 b) 2x+§y:74

For each equation, find the slope and the y-intercept.
a) y=2x+3 b) 3x+5y=20




